6570.3
6570.3

goooooon

oooood [ NNN60520 WK
00 LDR3L-M-E11 x1 185.0 Im
0oon KO151544 (0) DB 1
oooao BZ1
0o 80 % 70 % 50 % 30% 0 %
0ooo 101 % |0
0o |7ol50]30]10f70]50]30f10]70]50[30]10]70]50]30]10]00%
oooao 0% |[U]q 10 % 10 % 10 % 10% |o%
oooao 101 % 000 000 ( X0.01) ZCM
. 0. 67 0.6 |os5|o2|s9olsslos|otlsolssloalor]lsols7|o3]|oonlsolsr|s7
000 0 0 63 0.8 |oslos|o3lor|oslos|ozlorlo7|oaloz2lo1]lo6loa]lo2]o1]90
0 o 56 1.0 pooo7|os|oahogo7|os|o4|o9|oe6|los|o3|o7|os|o4|o3|o2
' —1.25hk02499|97|o96kodoolo7|oshoojos]|oslos|ogla7]|o6los|os
nooooo DDZ 1.5 posroyoo|lo7hoqooooflo7hofoolos|oc|loolos|o7|o6|os
0ooooo 00 12.0 hososhothootodrooofoofohofoolosphoydoolos|o7]os
00 0goooon 2.5 hoshodrozhohosroshozhohoshozhookookohoofoolos|az
00 |ooooo0 |ooooo00 | 3.0 poetoshostozhoshodiosiohiosrozhothootohothoooolov
Hpol 0.33H; | 0.35Hy | 4.0 hotoctostodrosrosoduopoduosodioioqothospoofos
5.0 ho7toetoshoshoetostososiosioshostozhozhozhohoydos
7.0 hostohoetoctooetoshoshoshtosiososhoshozhozhoydoo
10.0phosogiohoopocosrososodiodrodoosporforoo
180°
g N ] En il 80 X H66
- - 0 0 O B ~
0AaONDAd00Yy quUupuoguup oy O
4
;"| H=1_.5
0 (0 ] -
0 1 Py et
4 H=DP
1\
[] | =
H=
1 p—
L
916° 970" H=U
//
H=5
/
/
/
401001
— [ All‘
L B
] I
T Ll
d e AN
S o 12
A B
° qQ° 3 []

INIRINERINERINERINE



